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Find all real roots of the equation

\/x+3—4\/x—1+ r+8—6vVr—1=1

The problem was solved by

e Roland Karlsson, Technical University of Linkoping, Sweden.

e Atakan ERDEM, Middle Fast Technical University, Ankara, Turkey.

e Muhammed YUKSEL, Ankara, Turkey.

e Miimtaz Ulag Keskin, Erciyes University, Kayseri, Turkey.

e K. Sengupta, Calcutta, INDIA.



Discussion:
Let v = /x — 1. Then, x = v? + 1, and the given equation becomes

V=224 (v-3)2=1.

Thus, we have
v =2+ |v—3|=1.

Clearly the equation above is satisfied if and only if v is in the interval [2,3].
Hence, the given equation is satisfied if and only if « is in [5, 10].



